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(c) $tihi?i-$ mul"q( ;E=r*-{rd ftqo w.'r mun T'q+ht wt
ti aioq fufuq I B

Wlit* the difference between electric force ancl

nxagneti* force: acilng on charged pa.rticie'

ep{qT

(0r)

stTtq* i&- q.{{qq E?dciri t?q.I}q n+rr gruofitl *e *i tn*l

q{} ,iftT E{rstr.d,ke+l hh{t t i io

$ii:ow that ttre motiq:ru ot' a llarf.icic ir: inutr;ally

perpendieular *ie*tris nnd niiignetie field is cycloieial.
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\\rhat is Centilever ? Derive atl expressilltt 1or iis

bendirrg.

(q) qqT sftda' f,'sr
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$tate rnhether the rlimensional fi:nnulae and units of

?

shess and

rvrite their

are salRe ? If yes,

ancl units.
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Write Bemoulli's ir.
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EXAMI{ATION, 282*

(OId Course)

PHYSICS

Paper First

(lV{eeknnies, Oscillations and Properties of ltrdaffer]

Time : Three Hours

MaxtmumMorl*: 5A

*e : ffifi dq' sc-qT *' s-rr fffrq I nd6 Eqtr{ * q6' sffi
a-wi sTfte"rd t r s,fr sfiT & si6 wflT * t

, Atternpt all tllre five questions. Ore que*tion fircm each

' Unit is compulsory. All questions carry equal marks"
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1. (q) frxfr , EE"il d fr-fiiq * ftq tfuo' d*.T dqer'T qq

?F1"hq rtA'.r (wq + frqqT a} ftrs-sq ftE
qi)frq I 6

State and prove the law of conservation of linear and

angular momentum for a system of z particles
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What is Sirnple Flarn:onic Cscillator ? hlstablish the

riiffer*ntial equafion ibr ii nnd solve it to deduce the

exprlssu;on for dispiaeemr:nt, vr:locity and time perioil.
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3. {,lrflq 3n-f{f* 's q} q{.}q'{ iriIiT'{r{ ffiH' aiTdti rrRsi thi

.1rt;srdqrir -iiwfi$0 -iTe;T Er{.$} ftSt t,ftf{erfhrii mi laa
q1[k{ {iqgT$q | 10

l3xplain tile superposiiion r:f two rnutuatrly p*:rpenriieular
sirnp[* itamu:tiq: motions of the snnre tiequency" Explain
th* spreci;rl r:ases wilrh dia.gram.
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S.$ tfl 4:uii r,t ,iili '-'ri. l,'i-l'fi ii* .t t {'i e;}'iffii
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{q) Tq,t*s ate \q Tffiftq ftqq ffir elef crEsl'{q t q-4-'}

#q s-eT wrTffi"d' dfuq | 4

Explain gravitatir:nal fielel and gravitational

poterrtial. Establish the relation between them'

{or)

t*l) dhas d ;rS'tJ ,rlfr ?i\ f'Tq'*Tt ry1 lfutcfl tt'l iBfltl

ftqr{ 6I itrp{q .rtjbq t 6

(q) sse$ qq

dftq I

Write Kepler's law

the sefiond la\,v.

r:f planetary t"rt*lir:n and de,riv*

tfr gq qBE w€
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Differentiat"e corls*rvatil'e *:nd n*n-conservativr*

farce with examPie.
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f)erive an expression f,or the on':",ul;lr tnomettniltu uI

l'otatiltg rigicl hody with resp*ul t$ u:ctt6in a;xcl''

(q) rffi thr ",s}, qttqTfkn ofrffiq ! 3

Define radius of gYration'
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a. (a1) fka ritfhq fh fdgn il*r ii $Tt{tnT qrri ;Fi ft*-h:t,

ftq,t ,#,r .01 rfmmi * arymq"r1srfi *ru * 1 "r

l"rnve trhat <!;ilei:t!i:al u{' i:rhi:rged pnrtir:i,* ltil el*rtrie
field is directly I",rrlportiLla:ri tr: inir::n:il'}, crf triuctrin
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